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	Write, solve, and check each equation.
	
	Write an equation.

	1. Paula has twice the amount of money as Don. Together they have $105. Write and solve an equation to show how much money Don has.
	
	1. Ray has double the number of nickels as quarters in his pocket. The nickels and quarters that are in his pocket are worth a total of $1.05. Write an equation to find the number of quarters (q) in his pocket.

	2. Ryan exercises 30 minutes per day. Write and solve an equation to show how many days (d) are needed in order to reach 24 hours of exercise.
	
	2. At the movies, Michael bought four tickets at $3.50 each. He also bought snacks that cost $10.50. Write an equation to find the relationship between the number of tickets (t) Michael bought and the total amount of money (m) he spent on snacks.

	3. An arcade charges $10 for admission plus $2 for each game played. Write and solve an equation to determine the total fee (f) for playing games (g).
	
	3. The height of a building, in feet, is 12 more than 8 times the number of stories in the building. Write an equation that could be used to find the height of the building (h) based on the number of stories (s) in the building.



	Write, solve, and check each equation.
	

	1. A garage charged Mr. Tilton $48 for parts and $36/hour for labor. How many hours did the garage work on Mr. Tilton's car if the total bill was $156?
	2. Lindsay is 2.5 years older than Mikayla.  Mikayla is 8 years old. How old is Lindsay?

	3. Jennifer has $22.75 in her bank. She saves quarters and half dollars. She has $10.50 in half dollars. How many quarters does Jennifer have?
	4. In a pet store the number of dogs is 12 more than three times the number of cats. The pet store has 21 dogs. How many cats are at the store?

	5. Lydia sold 4/5 of her candles to raise money for the band. She has 8 candles left. How many candles did Lydia have to start with?
	6. The sum of Sherry’s age and her dad’s age is 60 now. In 12 years, Sherry will be half as old as her dad. What is Sherry’s age?


Define a variable, and then write an equation for each problem.
	7. When she graduated from college twenty-seven years ago Kimiko was 21. How old is she now?
	8. For 6 consecutive weeks, Connie lost the same amount of weight. Six weeks ago she weighed 145 pounds. She now weighs 125 pounds. How many pounds did Connie lose each week?

	9. Four years ago, three times Cecile’s age was 42, her father’s age now. How old is Cecile now?
	10. Kerri has 31 CDs and tapes altogether. If she has 4 more CDs than half the number of tapes, how many tapes does Kerri have?


Write a problem based on the given information.
	11. Let a = Quincy’s age now.

2 (a – 7) = 58

	12. Let m = Manuel’s height in inches.

m + 7 = Jason’s height in inches.

2m + ( m + 7) = 193
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Guided Practice

1. m + 2m = 105, 105 / 3 = m, m = $35

2. 30d = 1440, d = 1440/30, d = 48 days

3. 10 + 2g = f

Review Practice
1. 25q + 5(2q) = 105

q = 3
(3 quarters and 6 nickels)

2. 4t + m = total amount spent, 4(3.50) + 10.50 = $24.50

3. h = 12 + 8s
Independent Practice

1. 48 + 36h = 156
156 – 48 = 36h
108 / 36 = h
h = 3 hours of labor

2. 8 + 2.5 = 10.5 years old

3. 22.75 = 10.50 + 0.25x (where x is the number quarters).
22.75 - 10.50 = 0.25x
12.25 /0.25 = x = 49 quarters.
4. 12 + 3c = d
12 + 3c = 21
21 – 12 = 3c
9 = 3c
9 / 3 = c = 3 cats.
5. x – (4/5)x = 8
x (1 - 4/5) = 8
x (1/5) = 8
x = 5(8), x = 40
6. Equation 1: s + d = 60 and 
Equation 2: s + 12 = 0.5(d + 12)

s = 0.5d – 6, substitute into equation 1 for s.

0.5d – 6 + d = 60
1.5d = 66, 66 / 1.5 = d
d = 44, substitute into equation 1; 

s + 44 = 60, s = 60 – 44, s = 16; Sherry is 16 years old now.

7. 21 + 27 = current age = 48 years old.
8. 145 – 6x = 125
145 – 125 = 6x
20 / 6 = x
3 1/3 = x

9. c = 42 / 3 = 14, now 14 + 4 = 18 is her age.
10. 31 = x + 4 + 0.5x
31 - 4 = x + 0.5x
27/ 1.5 = 18 = x

The number of tapes is 18 (and CDs is 13).
11. Student determined.

12. Student determined.
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